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Directions: Identify the choice that best completes the statement or answers the question.

1. Which structure corresponds to the given representation?

HOCHCICH=CHCI
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2. Which structure corresponds to the given representation?

a. CH3CH=CHCH,CH; b. CH;5(CH;),CH; c. CHs3(CH;)4CH; d. CH3(CH=CH),CH;

3. Which structure is different from the given representation?

/YQOH

Br
CH(CHg)CH,0H CH,CH3 Br CH,CHs
H Br H CHj HsC H HsC H
a. b. C. d.
H H H Br H CH,CHj Br H
CHg CH,OH CH,0H CH,OH
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4. Which structure corresponds to the given representation?

CH(CHa)
H Br
HaC H
CHj

5. Use the given representation below to answer this question.

Select the structure that is the same molecule as the given representation and the
statement that best describes what information you focused on to reach your conclusion.

—~

| — Whether the groups are on the left side in relation to the ring
| — Whether the groups are up versus down in relation to the ring
Il — Whether the groups are axial versus equatorial in the ring

Il — Whether the groups are on the outer edges of the ring

o0 oo

6. Which structure corresponds to the given representation?

o o) 0 o)
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7. Which structure corresponds to the given representation?

/O\NH2
NH, NH>
a. b. C. d.
\ﬁwz et = ﬁ

8. Which structure corresponds to the given representation?

CH3CH=CHCBFZCH2COCH3
Br

9. Which structure corresponds to the given representation?

o

a.  CH,CH,CH,CH,CH,CH,CH,CH,

b.  CH,CHCH,CHCH,CH,CH,CH,

H,
H3CH2C/C\C|)HZCH3
HoC. o CHa
Ho
H,

/C\
HaCHC”~"CHCH,
H,C. _CH
20 CH,

H,
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10. Which structure corresponds to the given representation?

o

H H H H
:Br—C C=C— C C C Br
H H H H

|
Br—C=C—C—Br
I
1Br: H B
H—(IZ—CEC—CIZ—CIZ—H
H H H

11. Which structure corresponds to the given representation?

Br/\/\
Br
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12. Select the structure that is the more stable and the statement that best describes what
information you focused on to reach your conclusion.

gty

| — The amount of space between the groups
| — Whether the groups are pointing up or down
Il — The amount of space between the groups
Il — Whether the groups are pointing up or down

o0 oo

13. Select the structure that is the less stable and the statement that best describes what
information you focused on to reach your conclusion.

HH o oftH..
H-C-C-O: +G-C-O-H
H H H H

| — The electronegativity of the atom with the negative charge
| — The absence of a full octet on the atom with the negative charge
Il — The electronegativity of the atom with the negative charge
Il — The absence of a full octet on the atom with the negative charge

oo oo

14. Select the structure that is the more stable and the statement that best describes what
information you focused on to reach your conclusion.

@ H® 0.
H. _.O. C"-+ H
¢™ H H

| — Whether the structure has double bonds or single bonds
| — Whether or not the atom with the positive charge has a full octet
Il — Whether the structure has double bonds or single bonds
Il — Whether or not the atom with the positive charge has a full octet

o0 oo

ToPagel



15. Select the structure that is the less stable and the statement that best describes what
information you focused on to reach your conclusion.

H Br
HsC CH,CHs HsC CH,CHs
Br CHs HsC H
H H
I Il

| — The size and proximity of the groups to one another
| — Whether or not electronegative groups are near other groups
Il — The size and proximity of the groups to one another
Il — Whether or not electronegative groups are near other groups

oo oo

16. Select the structure with a lower boiling point and the statement that best describes the
information you focused on to reach your conclusion.

| — Whether the molecule has branching
| — Whether the molecule is symmetrical or asymmetrical
Il — Whether the molecule has branching
Il — Whether the molecule is symmetrical or asymmetrical

o0 oo

17. Which of the following compounds has the highest boiling point?

_ CH,CH,CH,CH,OH
CH,CH,CH,CHO

b.

_ CH,CH,0CH,CH,
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CH,COCH_CH,

18. Which of the following compounds has the highest boiling point?

@)

a. )]\/
b SO
|
c N

19. Select the structure with a higher boiling point and the statement that best describes the
information you focused on to reach your conclusion.

| — How strong the bonds are between atoms
| — How strong the interactions are between molecules
Il — How strong the bonds are between atoms
Il — How strong the interactions are between molecules

oo oo

20. Select the structure that has bromine atoms on opposite sides in relation to the ring and the
statement that best describes what information you focused on to reach your conclusion.

Br Br
Br

Br
l. Il.
| — Whether the bromine atoms are axial versus equatorial in relation to the ring
| — Whether the bromine atoms are up versus down in relation to the ring
Il - Whether the bromine atoms are axial versus equatorial in relation to the ring
Il - Whether the bromine atoms are up versus down in relation to the ring

oo oo
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21. To which labeled atom(s) is/are the chlorine atoms connected in the given representation?
CH3CH,CH,CCI,CH,CCH3,

P

Carbon |
Carbon Il
Carbon Il
Carbons 11, I

22. How many hydrogen atoms are in the given representation? /OjOH

14
15
16
17

oo oo

oo oo

23. Which best describes the given representation? OH

a. The broken dash line is directed out of the page.

b. The bold wedge lines are directed into the page.
The thin lines are flat in the plane of the page. The bold wedge and broken dash
lines are not.

d. Neither the thin lines, the bold wedge lines, nor the broken dash lines are flat on the
plane of the page.

24. Select the structure(s) that has/have an atom with an incomplete octet and the statement
that best describes what information you focused on to reach your conclusion.

b v
H=C—C—C—C—H H—G-CIN—C—H
Hon @ H H

l. Il.
| — It is missing a pair of electrons.
Il — It is missing a pair of electrons.
I, Il = They have a positive formal charge.
I, Il = Their outer shells are not filled.

oo oo

ToPagel



25. How many carbon atoms are in the given representation?
Hac H

CHs,
H3C Br

oo oo
o AW

26. Which best describes the atom indicated with an arrow in the given representation?

It is connected to... \OH
a. Two carbons and one oxygen.
Three carbons and one oxygen.

b
c. Two carbons, one oxygen, and one hydrogen.
d. Three carbons, one oxygen, and one hydrogen.
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